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The Inverse functions formulas show the way the functions are restricted.
Examples:
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. This problem asks for the angle whose sine is ½. Since the sine is restricted from 
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 and the sine is positive in the first quadrant, 
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is the angle desired.
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. This problem asks for the angle whose sine is
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. Since the sine is restricted from 
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 and the sine is negative in the fourth quadrant, 
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 is the angle desired
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. This problem asks for the angle whose cosine is ½. Since the cosine is restricted from 
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 and the cosine is positive in the first quadrant, 
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is the angle desired.
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. This problem asks for the angle whose cosine is
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. Since the cosine is restricted from 
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 and the cosine is negative in the second quadrant, 
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 is the angle desired. Note that 
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 has a reference angle of 
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. To find the angle whose cotangent is 
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, we use the formula 
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Since the tangent is restricted from 
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 and the tangent is negative in the fourth quadrant, 
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, so 
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. To find the angle whose secant is -2, we use the formula 
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, since the cosine is negative in the second quadrant.
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. To find the angle whose cosecant is -2, we use the formula 
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, since the sin is negative in the fourth quadrant.
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